
Economics 3250 Dr. Lozada
Spring 2008 Final Exam

Do Not Turn This Page Over Until You Are So Instructed!

This exam has 50 points. There are ten questions on the
exam. Each is worth 5 points.

Put your answers to the exam in a blue book or on blank
sheets of paper. You have two hours to take this test.

Answer the questions using as much precision and de-
tail as possible. Correct answers which are unsupported by
explanations will not be awarded points. Therefore, even if
you think something is “obvious,” do not omit it. If you
omit anything, you will not get credit for it. You get credit
for nothing which does not explicitly appear in your answer.
If you have questions about the adequacy of an explanation
of yours during the exam, ask me.



1. [5 points] Compose an argument against the following position:

“If global warming causes a rise in sea level, the economic
effects of the sea level rise will be limited to small island
nations, in which few people live anyway.”

2. [5 points] How difficult has it been—in terms of, say, sacrifices of this
country’s GNP—for the US to abide by the international agreement
regulating CFC’s and other chemicals which damage the ozone layer?
Explain why this has or has not been difficult.

I am not asking you to put a precise dollar value on the costs of the
agreement; rather I am asking you to describe in general terms if the
difficulty has been severe or not.

3. [5 points] Give an example of a government policy which damages
(or damaged) biodiversity, and explain why it damages (or damaged)
biodiversity. The example does not have to be from the USA, nor do
you have to name the specific country which has (or had) the policy.

4. [5 points] Compose an argument saying that although the following
quotation is partially true, it is not completely true:

“As developing countries get richer, their pollution problems
will all be solved.”

Be specific.

5. [5 points] In class, I discussed “circular flow” diagrams. Attached
to this exam is a copy of one: Fig. 2.1 from Samuelson and Nord-
haus’s Microeconomics (15th ed.). Discuss something of relevance to
Econ. 3250 which is missing from such diagrams.

6. [5 points] Contrast the “Cornucopian” and “Deep Ecology” schools
concerning:

(a) how worried they are about resource scarcity, and why; and

(b) the basis of their ethics.

7. [5 points] Show, using a graph, a tariff on imported food which is inef-
ficient. Explain how the graph shows the inefficiency. I have attached
to this exam a figure, Fig. 1, which you can use to get started.

8. [5 points] What are “opportunity costs”?

9. [5 points] Suppose:
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• a pollutant is only produced by two firms, “A” and “B”;

• each firm currently produces 3 tons of pollution;

• it would cost Firm A $10 per ton to reduce pollution (at the
margin); and

• it would cost Firm B $5 per ton to reduce pollution (at the mar-
gin); and

• society wants to reduce the total amount of pollution (Firm A’s
added to Firm B’s) to 4 tons.

If a tradeable permit scheme using grandfathering were used to do
this, show:

(a) whether any permits would be traded, and if so, who would buy
and who would sell;

(b) how much it would cost Firm A plus Firm B to meet the new
pollution target.

You do not have to compare this with a standard or a tax or any other
approach.

10. [5 points] Fig. 2 (attached to your exam) shows, for a fish population,
a graph relating population size with “births minus deaths.”

(a) Show where on this graph “carrying capacity” is. Explain why it
is where you say it is.

(b) Show where on this graph “maximum sustainable yield” is. Ex-
plain why it is where you say it is.

(c) Why is Fig. 2 a reasonable description of the relationship between
population size and “births minus deaths?”

2


















	3250S08F
	3500_001.pdf

